
    

P—19–2—Science II  P – G–(7)   [ Turn over 

 ŸÊ◊Ê¢∑§ Roll No. 
  

 
 

      

No. of Questions — 24 P—19–2—Science II 

No. of Printed Pages — 7 
 

¬̋flÁ‡Ê∑§Ê ¬⁄UËˇÊÊ, 2011 

ÁflôÊÊŸ ó ÁmÃËÿ ¬òÊ  
( SCIENCE — Second Paper )   

‚◊ÿ — 3 14   ÉÊá≈U 
¬ÍáÊÊZ∑§ — 40 

 

¬⁄UËˇÊÊÁÕ¸ÿÙ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —  

General Instructions to the Examinees: 

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –  

 Candidate must write first his / her Roll No. on the question paper 

compulsorily.  

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – 

 All the questions are compulsory. 

3. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 
 Write the answer to each question in the given answer-book only. 

4. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  
 There are internal choices in Question Nos. 23 & 24. 

5. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ „Ò¥ U –  
 Question Nos. 2 to 5 are Very Short Answer type questions. 

6. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜ Á‹π¥ – 
 For questions having more than one part, the answers of those parts 

are to be written together in continuity. 
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7.  ¬˝‡Ÿ ‚¢ÅÿÊ 1 ◊¥ øÊ⁄U ÷Êª  ( i, ii, iii ÃÕÊ iv ) „Ò¥ U – ¬˝àÿ∑§ ÷Êª ∑§ øÊ⁄U Áfl∑§À¬ •, ’, ‚ 
•ÊÒ⁄U Œ ÁŒÿ ªÿ „Ò¥U – ‚„UË ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U ŒËÁ¡∞ — 

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has 
four alternatives A, B, C and D. Write the letter of the correct 
alternative in the answer-book at a place by making a table as 
mentioned below : 

  
¬̋‡Ÿ ∑̋§◊Ê¢∑§ 

Question No. 
‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U  
Correct letter of 

the Answer 
 

 1.      (i)    

 1.      (ii)   

 1.      (iii)   

 1.      (iv)   
 

1.  (i) “¬ÊÁ⁄UÁSÕÁÃ∑§Ë Ã¢òÊ” ‡ÊéŒ ∑§Ê ‚fl¸¬˝Õ◊ ©U¬ÿÙª ∑§⁄UŸ ∑§Ê üÊÿ ÁŒÿÊ ªÿÊ „ÒU  

 (•) ∞0 ¡Ë0 ≈Uã‚‹ ∑§Ê (’) ß¸0 ¬Ë0 •Ù«U◊ ∑§Ê 

 (‚) ∑§Ê‹¸ ◊ÙÁ’ÿ‚ ∑§Ê (Œ) ‚È∑§Êøfl ∑§Ê –  
  The credit of using the word 'ecosystem' for the first time goes to 

  (A) A. G. Tensley (B) E. P. Odum 

  (C) Carl Mobius (D) Sukaschev. 1
2   

 (ii) ªÈáÊ‚ÍòÊËÿ «UË0∞Ÿ0∞0 ◊¥ ÁŸÁ‡øÃ Á’ãŒÈ•Ù¥ ¬⁄U øË⁄U ‹ªÊ∑§⁄U •‹ª ∑§⁄UŸ ∑§Ù ©Uà¬˝Á⁄UÃ 
∑§⁄UŸ flÊ‹Ê ∞ã¡Êß◊ „Ò 

 (•) «UË0∞Ÿ0∞0 ‹Êßª¡  (’) å‹ÊÁÖ◊«U  
 (‚) Á⁄US≈˛UËÄ‡ÊŸ ∞á«UÙãÿÍÁÄ‹∞¡  (Œ) flÊ„U∑§ –   

  An enzyme that catalyses the cleavage of chromosomal DNA at a 

specific site is  

  (A) DNA ligase (B) Plasmid 

  (C) Restriction endonuclease (D) Vector. 1
2   
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 (iii) ◊Ê⁄UflÊ«∏U ‚ÊªflÊŸ flÎˇÊ ∑§Ê flÊŸS¬ÁÃ∑§ ŸÊ◊ „Ò 
 (•) ¬̋Ù‚ÙÁ¬‚ Á‚Ÿ⁄UÁ⁄UÿÊ  (’) ≈U∑§Ù◊‹Ê •ã«ÈU‹≈UÊU  
 (‚) «UÀ’Á¡̧ÿÊ Á‚S‚È (Œ) ≈UÄ≈UÙŸÊ ª̋¥Á«U‚ – 

  Botanical name of Marwar teak tree is  

  (A) Prosopis Cineraria  (B) Tecomella undullata 

  (C) Dalbergia sisso  (D) Tectona grandis. 1
2   

 (iv) ¬˝Ù≈UËŸ ∑§Ë ∑§◊Ë ‚ „UÙŸ flÊ‹Ê ⁄UÙª „Ò 
 (•) ÄflÊÚÁ‡Ê•Ù⁄U∑§⁄U  (’) ª‹ªá«U  
 (‚) ¬‹ª̋Ê  (Œ) ⁄UÊß’Ùç‹ÁflŸÙÁ‚‚ –   

  Disease caused by deficiency of protein is  

  (A) Kwashiorkor (B) Goitre 

  (C) Pellagra (D) Riboflavinosis. 1
2   

2.  ¡ŸŸ º˝√ÿ ‚¢ª̋„U ÄÿÊ „Ò ? 

What is germplasm collection ?    1
2   

3.  ŒÈÇœ ©Uà¬ÊŒ∑§ ¬‡ÊÈ•Ù¥ ◊¥ Á∑§‚ ’Ë◊Ê⁄UË ∑§Ê ≈UË∑§Ê ÃËŸ fl·¸ ◊¥ ∞∑§ ’Ê⁄U ‹ªÊÿÊ ¡ÊÃÊ „Ò ?  
Vaccination of which disease of dairy animals is done once in three 

years ?    1
2   

4.  ŸÊß≈˛UÙ¡Ÿ ÁSÕ⁄UË∑§⁄UáÊ ∑§ ©UûÊ⁄UŒÊÿË ∞∑§ ‚„U¡ËflË ¡ËflÊáÊÈ ∑§Ê ŸÊ◊ Á‹Áπ∞ – 
Write the name of a symbiotic bacterium responsible for nitrogen 

fixation.   1
2   

5.  »§‚‹ ø∑˝§ Á∑§‚ ∑§„UÃ „Ò ?  
What is crop rotation ?     1

2   

6.  ◊á«U‹ mÊ⁄UÊ ‚¢∑§⁄UáÊ ¬ÿ̋Ùª ∑§ Á‹∞ øÿÁŸÃ ◊≈U⁄U ¬ÊŒ¬ ∑§Ë ©U¬ÿÈQ§ÃÊ ∑§ ∑§Ùß¸ ŒÙ ∑§Ê⁄UáÊ 
’ÃÊß∞ – 
Write any two reasons of suitability for selection of pea plant for 

hybridization experiment performed by Mendel.  1
2  + 12  = 1 
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7.  ¡ã◊¡ÊÃ fl •¡ã◊¡ÊÃ Áfl‡Ê·∑§ ∑§Ê ∞∑§-∞∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –  

Give an example each of inherent and non-inherent traits.    12  + 12  = 1 

8.  πÃ ∑§Ë »§‚‹ ∞fl¢ ©U‚ ¬⁄U •ÊÁüÊÃ ¡ËflÙ¥ ∑§Ë ‚¢ÅÿÊ ∑§Ê Á¬⁄UÊÁ◊«U ’ŸÊß∞ –  

Draw the pyramid of field-crop and number of organisms dependent 

on it. 1 

9.  ⁄UQ§ ‚◊Í„UŸ Á∑§‚ ∑§„UÃ „Ò ? ⁄UQ§ ‚◊Í„UŸ ∑§Ë Á∑˝§ÿÊ ∑§Ê ∑§Ê⁄UáÊ ÄÿÊ „ÒU ?  

What is blood agglutination ? What is the cause of the action of blood 

agglutination ?   1 

10.  ∞∑§ ‚Ê◊Êãÿ ¬ÈL§· ( XY )  ∑§Ê „UË◊Ù»§ËÁ‹ÿÊ ⁄UÙª flÊ„U∑§ SòÊË ( XX h  )  ∑§ ‚ÊÕ ÁflflÊ„U „ÙŸ 
¬⁄U ‚¢ÃÁÃ ◊¥ „UË◊Ê»§ËÁ‹ÿÊ ⁄UÙª ∑§Ë ‚¢÷ÊÁflÃ fl¢‡ÊÊªÁÃ ∑§Ê •Ê⁄Uπ ’ŸÊß∞ –  

Draw a diagram showing possible inheritance of haemophilia in 

offspring when a normal man ( XY ) is married with a haemophilia 

carrier woman ( XX h  ). 1 

11.  ◊á«U‹ mÊ⁄UÊ ∞∑§‹ ‚¢∑§⁄U ‚¢∑§⁄UáÊ ¬ÿ̋Êª ∑§ •ÊœÊ⁄U ¬⁄U ¬˝ÁÃ¬ÊÁŒÃ ÁŸÿ◊ ‚◊¤ÊÊß∞ – ß‚ ∑˝§ÊÚ‚ 
∑§Ù ø∑§⁄U ’Ù«¸U mÊ⁄UÊ ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ – 

Explain the rules formulated by Mendel on the basis of monohybrid 

cross method. Demonstrate the cross by Checker board. 

   1
2  + 12  + 12  = 11

2   

12.  •‚ÈªÈÁáÊÃÊ Á∑§‚ ∑§„UÃ „Ò ? •‚ÈªÈÁáÊÃÊ ∑§ ∑§Ê⁄UáÊ ©Uà¬ÛÊ ∑§Ùß¸ ∞∑§ Áfl∑§Ê⁄U ∑§Ù ‚◊¤ÊÊß∞ – 

What is aneuploidy ? Explain any one syndrome caused by 

aneuploidy. 1
2  + 1 = 1 

1
2   

13.  ¬ÊÁ⁄UÁSÕÁÃ∑§Ë Ã¢òÊ ∑§ •¡Òfl ÉÊ≈U∑§Ù¥ ∑§ ŸÊ◊ Á‹Áπ∞ – Á∑§‚Ë ˇÊòÊ Áfl‡Ê· ∑§Ë SÕ‹ •Ê∑Î§ÁÃ ∑§Ê 
¡Òfl ÉÊ≈U∑§Ù¥ ¬⁄U ÄÿÊ ¬˝÷Êfl ¬«∏UÃÊ „ÒU ? 

Write the names of abiotic components of an ecosystem. How does the 

topography of a particular area influence the biotic components ? 

   1
2  + 1 = 1 

1
2   
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14.  ¬⁄UÊ¡ËŸË ¬ÊŒ¬ Á∑§‚ ∑§„UÃ „Ò ? ¬⁄UÊ¡ËŸË ¬ÊŒ¬Ù¥ ∑§ ∑§Ùß¸ øÊ⁄U ‹Ê÷ Á‹Áπ∞ –   

What is transgenic plant ? Write any four advantages of the transgenic 

plants. 1
2  + 1 = 1 

1
2   

15.  ¡ËflÊáÊÈ•Ù¥ ‚ ßã‚ÈÁ‹Ÿ ©Uà¬ÊŒŸ Á∑§‚ ¬˝∑§Ê⁄U Á∑§ÿÊ ¡ÊÃÊ „Ò ? ‚◊¤ÊÊß∞ –  
How is insulin produced from bacteria ? Explain. 1 

1
2   

16. ◊‚Ê‹ Á∑§‚ ∑§„UÃ „Ò¥U ? ∞‚ ¬ıœ ∑§Ê flÊŸS¬ÁÃ∑§ ŸÊ◊ Á‹Áπ∞, Á¡‚∑§ SÃê÷ ‚ ◊‚Ê‹Ê ¬˝Ê# 
„UÙÃÊ „ÒU – ◊‚Ê‹ ◊¥ ©U¬ÁSÕÃ ⁄U‚ÊÿŸ ∑§Ê ŸÊ◊ Á‹Áπ∞ –   

What do you mean by spices ? Write the botanical name of a plant 

yielding spice from its stem. Write the name of chemical present in the 

spice. 1
2  + 12  + 12  = 1 

1
2   

17.  ◊œÈ◊ÄπË ◊¥ ÁflÁ÷ÛÊ ‚Ê◊ÊÁ¡∑§ flªÙZ ∑§ ¬Á⁄Uflœ¸Ÿ ∑§Ù ‚◊¤ÊÊß∞ – ◊œÈ◊ÄπË ∑§ ¿UûÊ ∑§Ê 
ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –  

Explain the development of different social groups in honeybees. Draw 

a labelled diagram of beehive.  1 + 12  = 1 
1
2   

18.  Ãê’Ê∑Í§ ∑§ ©U¬ÿÙª ‚ „UÙŸ flÊ‹Ë ÃËŸ „UÊÁŸÿÊ° Á‹Áπ∞ –   

Write the three harms caused by use of tobacco. 1
2  + 12  + 12  = 1 

1
2   

19. »§‚‹Ù¥ ∑§Ù ŸÈ∑§‚ÊŸ ¬„ÈUøÊŸ flÊ‹ ¬˝◊Èπ ∑§Ê⁄U∑§Ù¥ ∑§ ŸÊ◊ ∞fl¢ Á∑§‚Ë ∞∑§ ∑§Ê⁄U∑§ ∑§ mÊ⁄UÊ ©Uà¬ÛÊ 
∞∑§ ⁄UÙª ∑§Ê ŸÊ◊ fl ‹ˇÊáÊ Á‹Áπ∞ –  

Write the names of factors responsible for crop damage and mention 

the name of one disease and its character caused by any one factor. 

   1
2  + 12  + 12  = 1 

1
2   

20. ŒËÉÊ¸∑§Ê‹ËŸ ∑Î§Á· ∑§Ê •Õ¸ ‚◊¤ÊÊß∞ – ß‚◊¥ Á∑§Ÿ ÁflÁœÿÙ¥ ∑§Ê ©U¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò ? 

Explain the meaning of sustainable agriculture. Which practices are 

used for it ?  1 + 12  = 1 
1
2   
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21. ªÈáÊ‚ÍòÊ Á∑§‚ •flSÕÊ ◊¥ S¬CÔU ÁŒπÊß¸ ŒÃÊ „Ò ? ªÈáÊ‚ÍòÊ ◊¥ Á◊‹Ÿ flÊ‹Ë ¬˝◊Èπ ⁄UøŸÊ•Ù¥ ∑§Ê 

fláÊ¸Ÿ ∑§ËÁ¡∞ – ¬˝ÊM§Á¬∑§ ªÈáÊ‚ÍòÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –  

In which stage is chromosome distinctly visible ? Describe the main 

parts found in a chromosome. Draw a labelled diagram of generalised 

chromosome. 1
2  + 2 

1
2  + 1 = 4  

22.  SÃê÷ ∑§ÙÁ‡Ê∑§Ê Á∑§‚ ∑§„UÃ „Ò ? ÁflÁ÷ÛÊ ¬˝∑§Ê⁄U ∑§Ë SÃê÷ ∑§ÙÁ‡Ê∑§Ê•Ù¥ ∑§Ù ©UŒÊ„U⁄UáÊ ‚Á„UÃ 

‚◊¤ÊÊß∞ – SÃê÷ ∑§ÙÁ‡Ê∑§Ê•Ù¥ ∑§ Áfl÷ŒŸ ∞fl¢ ‡ÊQ§ÃÊ ◊¥ ‚ê’¢œ ∑§Ê •Ê⁄UπË ÁøòÊ ’ŸÊß∞ – 

What is stem cell ? Explain the various types of stem cells with 

examples. Draw a linear sketch showing relationship between 

differentiation and potency of stem cells. 1
2  + 2 

1
2  + 1 = 4  

23.  Ÿß¸ ¬ÊŒ¬-Á∑§S◊ ÁŸ◊Ê¸áÊ ∑§ ¬˝◊Èπ ø⁄UáÊÙ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ ∞fl¢ ß‚∑§Ê •Ê⁄UπË ÁøòÊ ’ŸÊß∞ –  

•ÕflÊ  

 ¡ËŸ •Á÷ÿÊ¢ÁòÊ∑§Ë ∞fl¢ ¡Òfl ¬˝ılÙÁª∑§Ë ∑§Ù ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – •Ê⁄UπË ÁøòÊ ∑§Ë ‚„UÊÿÃÊ ‚ 

¡Òfl ¬˝ılÙÁª∑§Ë ∑§Ê ÁflôÊÊŸ ∑§Ë •ãÿ ‡ÊÊπÊ•Ù¥ ‚ •ãÃ‚¸ê’ãœ ‚◊¤ÊÊß∞ –   

Describe the main steps for development of new plant variety and draw 

its linear diagram. 3 + 1 = 4 

OR 

Define Genetic Engineering and Bio-technology. Explain the 

interrelationship of biotechnology with other branches of science with 

the help of a linear diagram.   3 + 1 = 4 
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24.  ∞«U‚̃ ⁄UÙª ∑§Ê ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ù¥ ∑§ •ãÃª¸Ã fláÊ¸Ÿ ∑§ËÁ¡∞ — 

(i) ⁄UÙª¡Ÿ∑§ ∑§Ê ŸÊ◊ 

(ii) ⁄UÙª ‚¢ø⁄UáÊ ∑§ øÊ⁄U ∑§Ê⁄UáÊ 

(iii) ⁄UÙª ∑§ ¬⁄UËˇÊáÊ 

(iv) ⁄UÙ∑§ÕÊ◊ ∞fl¢ ©U¬øÊ⁄U ∑§ øÊ⁄U ©U¬Êÿ – 

•ÕflÊ  

 ⁄U’Ë¡ ⁄UÙª ∑§Ê ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ù¥ ∑§ •ãÃª¸Ã fláÊ¸Ÿ ∑§ËÁ¡∞ — 

(i) ⁄UÙª¡Ÿ∑§ ∑§Ê ŸÊ◊ 

(ii) ‚¢∑˝§◊áÊ ∑§Ê ∑§Ê⁄UáÊ 

(iii) ⁄UÙª ∑§ øÊ⁄U ‹ˇÊáÊ 

(iv) ⁄UÙ∑§ÕÊ◊ ∞fl¢ ©U¬øÊ⁄U ∑§ øÊ⁄U ©U¬Êÿ – 

Explain AIDS disease under the following points : 

(i) Name of pathogen 

(ii) Four causes of disease communication 

(iii) Test of disease 

(iv) Four measures for prevention and treatment. 1 + 1 + 1 + 1 = 4 

OR 

Explain Rabies disease under the following points :  

(i) Name of pathogen 

(ii) Cause of infection 

(iii) Four symptoms of the disease 

(iv) Four measures for prevention and treatment. 1 + 1 + 1 + 1 = 4 
   


